W[\mf\‘ Cq((_ S@&ML\&M
Tﬁ@,

e (D -6

f8 and AL Shac o port and zﬁ%zﬁuwpmk/

so collinrar

)

2) %%C&,U /ﬁm) V(f’(fvr;. Are  perper efuuq(a/
Ma - /2 5 AC - 5 =
2 = = = = i s -q)
{0} ((a> (oB (g) ("> (é?
“3(-$)* 3(-DNr-6(2) = 24t-l2+-12= 0O

. ) |
Slne. A\ :Av?/ Jh\&j ‘éym 2 TR a%&l Se rt fT"Ceng{e_.

3) atb=/¢\ ab- /A
e 4 LD 42O+ —8(2)
¢ 2 2 4-8t-lt =0

5o perpend (culon

B
H)ﬂ”’z o\ /7 3 R B e
b W53 \= |1 |t¢ *) 6435 = |+t 4+

| | | - 1/ HA+is=2-t 5 5=3-¢

T e e ™

65U st ll‘u-\"%‘\- orn.
(3 -4)=3+at \
-Tt= 312t (0 ’f\ {(75
,t», -l lo )'ﬁ’ l Fiz Y
= | =] (l / ) o

p\/U W\ Q/Lﬂ\aﬁ/k) -[D
\ fed P



@ | R —
IR (2) R ) ()
() 3(-Nt3(-2) = 3+-¢ = —9

. ﬂ
(© cos Bhe = AB.aC _ _—9 s
5&} J48]-1xc|  f3Fea - ST T g /5
N - —
e —te S e =8
V 9o 310 V1o 25

i 2 ; _»’ - i | -
@ ,é)f(—?z\“r{(t} 2: = e T kit =

| 1 | 10 = 241t — 4 =2

l =t —— L=

")

Snce allts ae T <ame 5 ("Zj o, Py i s T L e,

7)@ se 6(2/2/ L/ﬁ oo "ol ano'b" Is o mislhple of (3:;)
_ . - _
I S 14 M
| (i’) v (fﬁ) (‘i%r“ ‘?,Kam,oie):

@ Show That x= —| _
o el MHae Airechored e clors (A)
|

{
(i)( T)zo 1 (DA30x) 42() =0

I X +2 =0
e = =S

= =-1]



D (3 () (e ()

t~l2s —¥ f=02-3g
i il P <« Subshtuha
3+171(8-35)=4+5s
3+34~5ls = 9+ 5¢
2% = 56
85 Ve

—4 + Y4
24 174

Nop

?lvﬁ v S s Sndl both A
“Yt4t= H-12() — t= 0.5
B HTL=45f LY —5 4= 5.&
Since, al\ t5 gre The Same L ollickes
at t= ‘Y2 hr o 12230 pm

,Q_-

allaiagthy (‘@(ti) - ((l.6>
© a5 (9 oa(t)- (2D

’t"—"" \/L(— hr
News yector 'ﬁ”rs if\*
i I _ e since
( Rk ) e 2:]5
Dosihen ot |21
Ship A< t= Yy SWPG =Y
WSE vyeay \B,’K\Fvw US-E _ wﬂ&*/\

.:].,ZCD el ) (”5) )(12_5 ( )
(ns)~(s)= ('%) (3707 - 2 &)

(&

dlj’mnu&



